14

=y

508155 C [ mIs P, = - S R
T LU Tt B ) N7 svm

" W BEBAsyrLyTa

5155] 70-A [ 10.5|

80-A[80-5]55]

hRfELLE)

soATRIETT ==
ﬂ?ﬁﬁ%fwﬁ
1:35,700 e N
0 1000 2000 3000m 7J< w;ﬁ E gs
e e T e A 80-B WACEY T — &
(Y274 =—TREDT 7Y
INABBIRDR o BE
: BHEIEE
i PR IS 0-A 2 - S
—_— IARSHRIRES P s & [T FEEFRTOI A B B AR é
. SRR (R EsEES . (E88FFE e & . — EE - ﬁﬁm i
S A T é@%ﬁ%ﬂggmﬁ%ﬁﬁ% L 25 =T IE R /A= 60-B sl (((((///// 2 ;
BB ERL TIET. | JSBRR A o eeeee B/ E ($ROBHEOHIES) [9-E| '50-AT50-5 Mkamm )\ I g yﬂg%ﬁ Z _
2 Y gt
R O e S B e ) :
A RS = KEREET \\ = ) N C
A B3 EARPR ) R FED g 7 R =
Ledy wsesmen JJf i SCL AR
< / l;.——.;?—'\ T - N ; .
| 1B AS ,wEEEEEEE%ﬁ * — = | 50-ALALL
NEANY /// A S i3 ATRS /7o EREAE 0
ez 2 B s\ an [\ [( Erewe
>4 & :%/ 13 My K . oo =/ W
= \/‘,,/ 7 _/ g % 3 ]E%ﬁj B ka7 W _élg:ﬁiﬂg
= 3 E& T ==
o 2E(eenc L o T e EE
— )—=— SE{EERTT .. J — 3
#OE=TH o 7 HERET 5 EEB weedl
D - Z HRBE)\= EEN 5|BJI9-B]9-D!
) o BN\ B K]F]85]
D @) = 6A¥o¥ ;
= Q| T ' e 70-B| \ L
Al g = N s
Ni
60-BJES N e 'v
@ FHESOREIF. COERRHOERE LOXREEUTEHEL Ezr-g H'EHI ;' #AE mE
DT, EROBIR/INAICFEREESNTULE A oS5D 0l »\f\ﬁ ez
LHTTELIZE, - P A ——
K \_~ MEEE
N @
; — —_—t—
FEBRE—ER & 5 LR
- % i & B it Bl
= i gz
B -k - 468 - A - BA\R - =280E B0 - EDHT FEELLsE
Bt - E/\R - L - TR - REOR BEH] - 5RO (BRI
HBL - AR - deE EEH] - JROE] FEE=ER
Bl - =280 BEE - RO YT = —FEEDT %
BT SRR FKIFAE - sHH | 18- BOB-TE- BOBHST - A0BZTE - AAFLT- 5
Ns=li] J\EH] - HHE #HOE—TH
EEEL - B o) |7 - choig T
EEELL - Bl « BREOR - A - J6E - EAE BEH] - JEOE] FHEER
=2R40E - BHEL - 2R - HEOR - Bk - BA\R B - EOH T
Bt - ML - A - A - 2R BEE - RO BOE—TH 4
ML - 2R B0 - RO ANA FLw— b
Fo - THE - FATE - 40 - A S0 - 5RO RIBERE GSELLE) - TS
- FEER - ANA T LY — b EORT - S50 Bif
T4 - 207 4 — I TR SO - B2 HEDH
WL - BOB—TH - T - HBER - IO r—JRBE | RO - BSE AL
TEHAO (BOE) HHRE - J\RBET =1
HOE-TE - BOB=TE - BOBHAT - TEFHAD (BOE) - 1% - ANA 7L T— b AT - dHnitats i ERRER
2% 5 — I B KT - \RET = iy
TRELLAE o5 - o) (8] L 5 2
TBUEWLZAE g - oh)I[B] Bt 4
TBELLAE - RIS - [BESE - ANA FLv—h SEOE] - S50 - ER =
FeELUAE - > T+ Z—FethOFF « 148 - 339 # — IR EBH] BT - BEH] == VN
TRELLZAE - R - HBEIE - BOB—TH - ANATLR—h - 1001 —J%EH | RO - B0 | 7k - 68 - s - =8 - T4 85
2R - REDHE S50 - RO a3 # —JREE E
3]
AEL - =RA0E BEH] - KO a9+ — I FEEE] ‘ P
A dH - = - T B0 - RO 2% 4 —I7EEE . E
IE=r1 J\RET - AFHE 33+ — TR i

{.{I’:l>*>\‘4]8§§l]]]ﬂﬂm

oKD

r_)y

H IS aIER >

|
=

(SHR) RS



